VCE & PDF https://www.passapply.com/hpe2-z39.html
2024 Latest passapply HPE2-7239 PDF and VCE dumps Download

PassApply.com

HPE2-739R6As

Fast Track - Applying Aruba Switching Fundamentals for Mobility

Pass HP HPE2-Z39 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/hpe2-z39.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by HP Official
Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

HPE2-Z39 Practice Test | HPE2-Z39 Study Guide | HPE2-Z39 Braindumps 1/4


https://www.passapply.com/hpe2-z39.html
https://www.passapply.com/hpe2-z39.html
https://www.passapply.com/hpe2-z39.html

VCE & PDF https://lwww.passapply.com/hpe2-z39.html
2024 Latest passapply HPE2-239 PDF and VCE dumps Download
PassApply.com

QUESTION 1

A company has a cluster of Aruba Instant APs (IAPs). The company wants to add a new IAP to the cluster. What should
network administrators ensure before they connect the new IAP?

A. that the new IAP has been provisioned with an IP address and the IP address of the cluster virtual controller (VC)
B. that the switch port for the AP is untagged for the same VLAN as the current cluster

C. that Aruba Activate is configured with provisioning rules for the IAP

D. that the DHCP server has the correct options 60 and 43

Correct Answer: A

QUESTION 2

What is one characteristic of a spanning tree edge port on an ArubaOS switch?
A. The port link state does not affect the RSTP topology.

B. The port connects to a switch that runs MSTP but in a different region.

C. The port only forwards traffic in VLANs assigned to the instance 0 (IST).

D. The port ignores incoming BPDUs

Correct Answer: B

QUESTION 3
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Refer to te exhibit.

VSF fabric
Member 1

VSF link

Access
VLAN 11

The Virtual Switching Framework (VSF) fabric and other switches connect on LACP link aggregations. They use OSPF
for routing. What should a network administrator do to help network connectivity continue uninterrupted if the
commander fails?

A. Enable OSPF graceful restart (non-stop OSPF) on the VSF fabric.

B. Configure LLDP-MAD.on the VSF fabric.

C. Configure a unigue OSPF router ID on the standby member OOBM port.

D. Install a standby management module in the standby member.

Correct Answer: B

QUESTION 4
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Refer to the exhibils
Swilch-1 VSF configuration

var
mapber 1 type "JRESOR®
priority 128

link I 1/R23-1/R24,1/823-1/B24
link 1 name *I-Linkl 1*
EXLIE

Swilch-2 VEF configuration
var
mesper 2 Type TJIES0A"

cioricy 255
link 1 2/A33-3/R24,3/Bi3-32/B34

Link 1 name "I-Linkd 1

Switch-1 and Switch -2 have the Virtual Switching Framework (VSF) settings shown in the exhibits. The administrator
then connects the switches together on the interfaces in the VSF link. The administrator first enables VSF on Switch-1
and confirms the reboot. After Switch-1 reboots, the administrator enables VSF on Switch-2 and confirms the reboot.
What happens?

A. Switch-1 and Switch-2 form a VSF fabric, and Switch-1 becomes the commander.

B. Switch-1 and Switch-2 fail to form a VSF fabric, and al interfaces on both switches remain up.

C. Switch-1 and Switch-2 form a VSF fabric, and all interfaces on Switch-1 are disabled.

D. Switch-1 and Switch-2 form a VSF fabric, and Switch-2 becomes the commander.

Correct Answer: C

QUESTION 5

What is the purpose of the organization string that is set in the System > Admin settings of an Aruba Instant UI?
A. It configures the SNMP credentials that Aruba AirWave uses to discover the cluster

B. It directs the cluster to the proper Aruba Activate account for Zero Touch Provisioning (ZTP).

C. It prevents unauthorized APs. which do not have the correct organization string, from joining the cluster.

D. It defines the group and folder to which the Instant cluster should be assigned in Aruba AirWave.

Correct Answer: D
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